
205-205-032C Page 1 of 2
Peerless



205-205-032C Page 2 of 2
Peerless

Ref #  Part Number Qty Description
8 792175 Woodruff Key1

18 786173 Spacer1
27 792035 Retaining Ring1
36 790075 Brake Disk1
37 790007 Brake Pad Plate1
38 799021 Brake Pad (pkg of 2)2
39 786026 Dowel Pin 5/16 x 3/42

39A 786174 Dowel Pin2
40 792076A Flat Washer .312 ID x .059W1
41 790008A Brake Lever1
42 792073A Screw 1/4-20 x 1-1/4"2
43 792075 Locknut 5/16-241
44 790025 Brake Pad Holder1
46 786086 Brake Lever Bracket1

71A 792162 Pushnut 9/16"1
71 788069 Square Cut Ring1
76 792174 Flat Washer2

79A 798027 Neutral Return Spring1
79 792144 Spring1
85 792154 Oil Fill Plug1

85A 792182 Tube Plug 3/81
87 788035A Oil Seal 5/8"1

180 730229A Gear Oil 80W90 (DIFFERENTIAL ONLY)1
189 792168 Drive Screw #6 x 1/2"3

189A 792171 Screw 10-24 x 1/2"3
190 792150 Lockwasher1
191 792151 Nut 7/16-201

208A 798023 Fan/Coupling (Incl. 189 & 189A)1
209B 798037 Control Lever1

900 794677 Replacement 205-032C Transaxle1


